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1.46KE&E =X 277,000 248,216
2. #6im%lE =X 53,000 46,184
3. BEkER = 406,000 364,693
4EERERR =X 338,000 303,300
5.ZC /A Uk lE X 830,000 746,401
6.FEREE X 191,000 170,879
THEMRAEE X 104,750 0
= 2,199,750 1,879,673
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A Ak -<T ik S |(RULHE | WieE| fE (B BEEEHE |REER B ff &% [R iz [ [Rifi&%8 EHIER | LREE | ETI5P e I#HEE
KRB V5= HEGCP-VB) AT BEfao= | 20A 14 1100 15 m 480 1000 480 7200 900 432 6480 | & En— e 1.4000
KEFARBEIEILE =547 SMESGP-VD) SAEBE AL -V 20A 22 1050 23| m 625 1000 625 14,375 900 563 12949 | L& PR E 1.6720
ELE#F 1 = 8,173 7,359
Sl 3=y ) 1 = 3,086 2,780
B £ & 1 % 672 605
[FOVHHEE 1 = 2,016 1814
BEIEEVE KEEVP) 20mm 4| 1100 4| m 1075| 1000 108 432 900 97 388 | @ B 0.2480
B L E#RF 1 = 130 116
Eill=t: 3=y ) 1 = 43 39
B £ & 1 = 108 97
[FOVFHEE 1 % 357 321
FEAN LT —hVIL7T 5K 20A 2| 1000 2| {& 1,190| 1000 1,190 2380| 900 1071 2142 L& 0.1600
WK YIA 1| 1000 1| & 9370| 1000 9,370 9370| 900 8433 8433 | E&E 0.2000
HEGEE 1| 1000 1| = 12,000| 1000 12,000 12000 900 10,800 10,800 | & 0.0000
EER RV BEFHRE 1| 1000 1 % 35000 1000 35,000 35000 900 31,500 31500 & 0.0000
HMIEFES 1 = 466 0
FBE 1 % 67,000 59,616 3.6800
FEIT=E 1 1 = 54,180 48,762 0.0000
BETE 1 1 =% 26,502 23,856 0.0000
IEE 1 1 = 33510 30,159 0.0000
at 277,000 248216
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S Z5 B |BfI| HERE |REE &% Rif<%E I#HAER

EERREGMEE) LM7 19| m 329 1000 6,251 5624 i@ 1.6200
B LE#F 1 = 3,553 3,197

G2y ) 1 K 592 533

ClS-Fzt2v) 1 K 592 533

HMIHEFR 1 K 842 0

FHE 1 K 30,000 26,244 1.6200
I=® 1 = 11,170 10,053 0.0000
=5 53,000 46,184

YONDENKO 3/11




2008118148

3.BEKER
X Ak -<T ik S |(RULHE | WieE| fE (B BEEEHE |REER B ff &% [R iz [ [Rifi&%8 EHIER | LREE | ETI5P e I#HEE
BHEIEEL-VE —HREVP) 100mm 6| 1050 6] m 8925| 1000 893 5358| 900 803 4818 | i@ HRERE 10320
" 125mm 9| 1050 9] m 1,145| 1000 1,145 10305 900 1,031 9279 | & HRERE 1.8990
" 150mm 1| 1050 1| m 1,720| 1000 1,720 1,720| 900 1,548 1548| L@ HRERE 0.2490
" 50mm 15 1050 16| m 310| 1000 310 4960| 900 279 4464 | LB HRERE 1.3500
ELE#F 1| = 3,305 2975
Sl 3=y ) 1 = 2,203 1,983
HEBERARE 1| 1000 1 = 12,000 1000 12,000 12000 900 10,800 10,800 | & 0.0000
EER RV BEFRE 1| 1000 1 = 35,000( 1000 35,000 35000 900 31,500 31,500 Ei&@ 0.0000
1oV =Mt SAE! (v9)—b A Tz) 400¢ 400mm 3 00 3| #8 12,700 1000 12,700 38,100 900 11,430 34,290 | L&
1=t SBE! (AV9—bAT2) 500¢ 950mm 1 00 1| #8 25700| 1000 25,700 25700 900 23,130 23,130 L&
HEMIEFER 1 % 325 0
FHBE 1 = 82,000 73,386 45300
FEI=E 1 1 =% 83,900 75,510 0.0000
BETE 1 1 = 34,104 30,692 0.0000
IEE 1 1 =% 67,020 60,318 0.0000
=5 406,000 364,693
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4EAERE

Eik= = HAEHM |RER B ff &% [ [Rif&4E I#HEE
#iKRZ R KERR C1200R frE X B HERZ 0207 1 28,800 28,800 28,800 25,920 25920 Eia@ 15600
FEHSKREDEMNYIEZTE L410 SR &K% 38,000 38,000 38,000 34,200 34,200 Ei&@ 0.6900
Sk LT 1,800 1,800 1,800 1,620 1620| L@ 0.1000
et 5510 5510 5510 4,959 4959 | L& 0.1000
BoKkie 4510 4510 4510 4,059 4059 | EH 0.3500
BRokiEBOX 38,000 38,000 38,000 34,200 34200 i@ 0.5000
WASBHEERR GT-1628AWXBL B 123,000 123,000 123,000 110,700 110,700 && 2.1100
HMIERES = 380 0
FBE = 98,000 87,642 54100
=5 338,000 303,300

YONDENKO 5/11




2008118148

5.ZC RS VR
X Ak -<T ik S |(RULHE | WieE| fE (B BEEEHE |REER B ff &% [R iz [ [Rifi&%8 EHIER | LREE | ETI5P e I#HEE

1=N-HA R O VH 0.04m LT 30| 1000 30| @& 14900 1000 14,900 447000 900 13410 402,300 E3& 9.9000
HEELREE 1| 1000 1 = 8000| 1000 8,000 8000 900 7,200 7200| L@ 0.0000
RE%-BEE & 1| 1000 1| = 18000 1000 18,000 18000 900 16,200 16,200 | & 0.0000
BB HE 1| 1000 1| = 18000 1000 18,000 18000 900 16,200 16,200 & 0.0000
ANAINEIMIEES M) 150mm 30 00 30| m 3320| 1000 3,320 99,600| 900 2,988 89,640 iF

" 200mm 10 00 10 m 4,380 1000 4,380 43800| 900 3,942 39420 @
HEMIEFER 1 % 66 0
FHBE 1 = 159,000 142,560 9.9000
BETE 1 1| = 36,534 32,881 0.0000
=5 830,000 746,401
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1.#67KE% fm

X MK -<T ik 5 |RBUVHE |WieE| HE | B HEHE |REE B ff &% [R {3 [R fif [Rifi£%8 EHIER | LRSS |BTIHF e I#HEE
HBE
RET 3.6800| 1000 368 A 18000 1000 18,000 66,240 900 16,200 59,616 3.6800
ast 67,000 59,616
FEI=E
329-1/BHREH HBKE 20A 42000 1000 42| m 0| 1000 1,290 54,180 900 1,161 48762 | L@
ast 54,180 48,762
BETS
RSN E-EREGRM) = (R R 20mm)20A 42.000| 1000 42 m o| 1000 631 26502| 900 568 23,856 | Ei@
ast 26,502 23,856
IE%E
#BRL AH 3.000 00 3| m3 0| 1000 4,840 14520 900 4,356 13068 | L&
BYIY AA 3.000 00 3| m3 0| 1000 6,330 18990 900 5697 17001 | #5&
ast 33510 30,159

YONDENKO 7/11




2008118148

It Hﬂ ff*ﬂ] =

SN =) 8

2 ¥8melE
e S |RALHE |[WihE| $HE | B4 HREBEE |REE &% R [Rifi&%8 THES

FHE

EBEEL 1.6200| 1000 A 18,000 1000 18,000 29,160 16,200 26,244 1.6200

&t 30,000 26,244
IEE

By AAH 1.000 00 m3 ol 1000 6,330 6,330 5,697 5697 | @

HREL AA 1.000 0.0 m3 ol 1000 4,840 4,840 4,356 4356| E&

=) 11,170 10,053
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3.BEKER
X MK -<T ik 5 |RBUVHE |WieE| HE | B HEHE |REE B ff &% [R {3 [R fif [Rifi£%8 EHIER | LRSS |BTIHF e I#HEE
HBE
RET 45300 1000 453 A 18000 1000 18,000 81,540 900 16,200 73,386 45300
ast 82,000 73,386
FEI=E
329-1/BHREH HEKE 50A 16.000| 1000 16| m 0| 1000 1,840 29440 900 1,656 26496 | i@
" HEKE 100A 6.000| 1000 6] m 0| 1000 3,020 18120 900 2718 16,308 L&
" HEKE 125A 9.000| 1000 9] m 0| 1000 3,580 32220 900 3222 28998 | iE
" HEKE 150A 1000| 1000 1| m 0| 1000 4,120 4120 900 3708 3708| &
ast 83,900 75,510
BETS
RS E-EREGRM) = (R iRE 20mm)50A 16.000( 1000 16| m o| 1000 829 13,264 900 746 11,936 &
" B Hi (178 /E 25mm) 100A 6.000| 1000 6] m 0| 1000 1,200 7200 900 1,080 6480 | &
" B i ({78 /E 25mm) 125A 9.000| 1000 9] m 0| 1000 1,350 12150 900 1,215 10935 L&
" B Hi(1R:8 /E 25mm) 150A 1000| 1000 1| m 0| 1000 1,490 1490| 900 1,341 1341 @&
ast 34,104 30,692
IE%
By AH 6.000 00 6| m3 0| 1000 6,330 37,980 900 5,697 34,182 | L@
#BRL AH 6.000 00 6| m3 0| 1000 4,840 29040 900 4,356 26,136 | L@
ast 67,020 60,318
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e AR -~Tik S |RALHE |[WihE| $HE | B4 HREBEE |REE B &% Rz R [Rifi&%8 EETER| DRSS |ETIHR e THES
FHE
EBEEL 54100 100.0 541 A 18,000 1000 18,000 97,380 900 16,200 87,642 54100
&t 98,000 87,642
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e AR -~Tik S |RALHE |[WihE| $HE | B4 HREBEE |REE B &% Rz R [Rifi&%8 EETER| DRSS |ETIHR iwE THES

FHE

hb 9.9000| 100.0 929 A 16,000 1000 16,000 158,400| 900 14,400 142,560 9.9000

&t 159,000 142,560
BETS

FERERARE S I FEH 20410| 1000 2041 m2 ol 1000 1,790 36,534 90.0 1611 32881 L&

&t 36,534 32,881
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